R FR25F11ADEFEAO

AA 110,450 (-45)

5 53,557 (-40)

Z 56,893 (-5)
T 44,014 t#% (-19)

x () AIFRETAL
XER25811H18IRE

Rl AOZX Frk256F1171H

BEAOGR. FEERSRAD (EEREAGIKRCEFRSNIZALD) &E@E —BHUFEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 417 -3 181 -1 236 -2 180 -1
ELH] 216 1 100 1 116 0 79 2
E=H] 135 61 0 74 0 63 0
KEH] 41 2 17 1 24 1 19 1
WNEL] 12 0 4 0 8 0 5 0
] 84 -1 35 -1 49 0 24 -1
Eayetil] 50 0 7 0 43 0 7 0
P L ] 495 0 265 -1 230 1 286 1
FEH] 30 0 17 0 13 0 17 0
1 H] 196 -1 84 0 112 -1 91 -1
= =[] 179 0 98 1 81 -1 97 0
] 229 -1 114 -1 115 0 121 0
ZH] 150 -1 69 0 81 -1 64 -1
& SHT 482 -3 238 -3 244 0 233 0
SFrH] 83 0 38 0 45 0 49 0
1GRaH] 111 0 52 0 59 0 40 0
FASEH] 167 -1 80 -1 87 0 93 -1
—&T 0 0 0 0 0 0 0 0
NET 109 2 53 1 56 1 52 1
T&ET 144 5 68 2 76 3 56 1
N&ET 88 1 41 1 47 0 38 0
NET 165 -1 64 -1 101 0 32 -1
T&ET 249 0 93 0 156 0 119 0
1ok ] 361 -4 157 -1 204 -3 187 -1
SiEH] 2,598 -3 1,265 -4 1,333 1] 1,083 0
RFRE] 3,475 1 1,668 -4 1,807 5( 1,376 1
] 1,571 1 766 -1 805 2 574 0
B a)=<tiil) 1,809 1 923 0 886 1 800 0
FrERHE] 424 197 3 227 0 181 1
FHATHT 3,616 -8 1,797 -9 1,819 1] 1,590 -2




LLIAEHT 2,400 0] 1,141 2| 1,259 -2 983 0
VEJRHT 2,055 10 988 8| 1,067 2 651 2
kil el 4,868 -20| 2,377 -13] 2,491 -7 1,888 -17
MEitEs] 2,163 -2l 1,063 0| 1,100 -2 862 3
EBZRHT 9,522 7| 4,649 3| 4,873 4 3,639 -2
=M 4,001 -4] 1,956 -6 2,045 2| 1,512 -5
[ EHET 1,164 7 597 3 567 4 483 2
EREFHIER — 2,603 2 1,242 4 1,361 -2 895 -3
EREFHTER ) 1,871 11 896 5 975 6 673 2
EREFHT PG 7> 582 -3 286 -2 296 -1 211 -1
Ea7KH] 5,666 -4 2,677 -8 2,989 4 1,953 -1
R ANHET 155 -6 149 -6 6 0 146 -6
ERH] 17 -1 10 0 7 -1 11 0
ETRE—TH 388 -3 204 -1 184 -2 174 -1
ETREIZTH 292 -1 128 0 164 -1 135 -1
ETRE=TH -1 0 -1 0 0 0 -1 0
ESTREIMTH 0 0 0 0 0 0 0 0
ETREATH 231 0 110 1 121 -1 77 0
rES 0 0 0 0 0 0 0 0
TEE—TH 402 -5 187 -5 215 0 188 0
TEEIZTH 723 2 347 -1 376 3 335 0
TEE=TH 314 -1 157 1 157 -2 140 0
RERE—TH 467 -2 220 1 247 -3 220 -2
WEE—TH 680 -6 315 -2 365 -4 326 -1
REE=TH 405 4 202 2 203 2 216 2
EMHFRE—T B 319 2 135 2 184 0 146 1
EMPRET T B 496 -5 235 -3 261 -2 242 0
JtFEILE—TH 178 0 82 0 96 0 85 0
JtFELET = TH 408 0 189 0 219 0 182 1
A —TH 270 -4 142 -3 128 -1 145 0
FAABI —TH 455 -1 234 -1 221 0 243 0
FH—TH 133 0 63 0 70 0 57 0
EHZTH 336 0 155 0 181 0 159 0
[REEIH 309 0 144 -1 165 1 219 0
il —T B 122 0 59 0 63 0 63 0
e —TH 267 0 113 0 154 0 97 0
HRFE—TH 455 0 208 -1 247 1 179 3
RREIZTH 376 1 174 0 202 1 159 0
FREI=TH 512 1 240 0 272 1 224 1
RAFEIU T B 403 1 182 1 221 0 161 0
FRETRTH 598 1 262 1 336 0 224 1
¥rEE—TH 220 4 122 2 98 2 104 1
FEHEI”TH 375 0 215 0 160 0 214 0




HIIEEE—TH 453 -2 224 0 229 -2 215 0
HIIEEE —TH 323 -4 150 -1 173 -3 131 0
1BEE—TH 153 -1 79 0 74 -1 81 -1
BEE”TH 631 3 298 0 333 3 287 2
BRI =TH 513 -5 260 -3 253 -2 222 -2
EEEIMTH 241 1 106 1 135 0 100 1
BEREATH 713 -2 328 -1 385 -1 354 -1
Ka#l—TH 314 -2 156 -1 158 -1 136 -1
XKmBl —TH 223 -1 108 -1 115 0 87 -1
AFH—TH 123 0 60 0 63 0 64 0
RFHZTH 10 0 5 0 5 0 5 0
AFH=TH 179 -5 90 -3 89 -2 83 -1
TEsETFE—TH 672 -4 320 -3 352 -1 242 -3
TEERTH 329 -1 154 0 175 -1 126 -1
TEEAR=TH 395 0 214 1 181 -1 151 0
TEEIFEMT B 515 9 241 6 274 3 214 3
TEEARATH 620 0 297 -1 323 1 258 -2
AN S| 359 -1 192 2 167 -3 171 1
TEEARETH 643 4 309 2 334 2 301 4
TEEFEA\TH 695 -7 333 -6 362 -1 291 -3
TERER—TH 1,462 -4 698 -3 764 -1 615 -2
TEREIR”"TH 405 -3 209 -1 196 -2 168 1
TEREIR=TH 676 -2 329 0 347 -2 282 1
T2REIRIUT B 1,160 4 568 3 592 1 471 4
TEREERATH 984 0 508 1 476 -1 497 1
TARETERATH 559 -3 283 -2 276 -1 303 -5
TEREIRETH 1,519 12 775 4 744 8 657 5
TERETERNAT B 1,234 3 558 0 676 3 577 0
TEREIRAT B 425 1 207 1 218 0 143 1
TEEIE—TH 81 -1 47 0 34 -1 64 -1
TEEIEZTH 96 -1 63 -1 33 0 75 -1
4N 5t 81,591 -37| 39,575 -41( 42,016 4| 33,547 -23
AEH]E 108 2 47 1 61 1 68 0
AEHH 110 0 54 0 56 0 62 0
AEHTFRE 13 0 5 0 8 0 10 0
A SH]/\BR 114 -1 52 -1 62 0 51 0
AEHKH 9 0 5 0 4 0 6 0
AEHTEH 63 1 27 1 36 0 27 1
AEH] R 10 0 5 0 5 0 7 0
AEHE /R 9 0 3 0 6 0 5 0
45 12 0 4 0 8 0 9 0
AEHXEST 448 2 202 1 246 1 245 1
IN= 1 V2] 32 -2 17 0 15 -2 21 -1




IN= AR 35 -1 15 -1 20 0 26 0
IN=IEO) 38 0 17 0 21 0 23 0
[ SHTERES 29 -1 10 -1 19 0 19 0
[LEHTEAR 58 0 27 0 31 0 33 0
[LSHETHH 20 -3 12 0 8 -3 15 0
IN= ] 26 0 17 0 9 0 17 0
[LEE/NFS 36 0 16 0 20 0 16 0
FSH] 37 1 22 1 15 0 24 1
[ S EEET 311 -6 153 =1l 158 -5 194 0
SUEERSET 759 -4 355 0 404 -4 439 1
2% X T ] R 1,365 -4 658 -2 707 -2 485 -1
T X 2] B T 717 -1 311 0 406 -1 226 0
TR R 1,267 -1 604 -1 663 0 421 0
e 2K T o] E 7 1,061 9 529 4 532 5 375 2
T IRE] R AR 1,364 1 672 1 692 0 458 -1
TEIRET SRAET 1,151 -5 536 -3 615 -2 422 -3
TEIRET = AR 3,964 1 1,916 -1 2,048 2| 1,429 2
TR XSt 10,889 0 5,226 -2| 5,663 2 3,816 -1
ERILIET_ESREESE 2,104 -10 991 -2 1,113 -8 704 0
ERILIE] FIAESF 2,618 9 1,311 7| 1,307 2 922 3
ERILIETER/)N I 2,024 0f 1,014 1 1,010 -1 790 1
BRI BT PaR T 1,527 2 753 0 774 2 518 1
BRI BT S iF 1,160 -5 576 -2 584 -3 420 -3
ERLLIET) 1R 2,268 6 1,116 1 1,152 5 818 2
ERILBTER YR T 5,510 -6| 2,640 -2 2,870 -4 2,040 0
BRI X &S 17,211 -4 8,401 3| 8,810 -7 6,212 4
a st 110,450 -45| 53,557 -40| 56,893 -5| 44,014 -19




